A - wisdt

qJ[fa fefamrs
(2025-26)
HHT 3 W2
foust: 40 wig
yustt: 40 wig
HLALE: 20 wig
98: 100 nid
YAS U39 € gu-3ur (faush)

1. YAs U3d €9 9% 18 YHS I

2.  YAs U3d fEa 997 (<9 I I=AT| 99 39T 7S US-oH 3 worfds
J=dr|

I91-1 f€9 (10) TAZ f6Hs Y& (13 10 ) Us Fredl| I9 YHs B nix &

J}r | 79 YIS SAZfGHS /9g973t €397 T8 J=dl| 10x1=10

I91-1l €9 6 82 €33 T YHs (11 3 16) Us Aredl, frigt I8 gt &
YA wedd! &8¢ 8 J&dl| I9 YyHS 3 Wi T J=4r | 6x3=18

-1l lRE T (2) TS €3T @B Yis (17 318 ) U Hedl | it i<
wegat 8¢ J=91 1I9 YHG 6 wist T I=ar| 2x6=12



